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Kaaeucbke 381391 98 (@) 8.8 8.8 9C31BI1 SULQ 701 11191 22 [2501 4 |BCP ToXKeKa 35 | He BusBREHO
Paszom 9.8 8,8 8,8
Pazom BCP 8,8
OctpiBebke a3 Ll 7.6 10C3+bI1+BJIY 651080 1 |23 ]24|390| 3 |BCP |arapii ta cruxiiini nuxa| 15 | e snssnero
OcTtpiBchke 46 {10 1,5 9C31bI1 68 1090| 1 |24 ]261430| 3 |BCP apapii Ta cruxikni auxa| 10 | ue sussireno
Pazom 9,1
Pazom BCP 9.1
Buuischke 26016 294 3l 10C3K 3O 7O T 12072640951 4" ['BER XBOPOOH 10 | ue BusBeno
Buuiscoke 3 A 1.8 10C3K 591080 2 | 19221310 4 |BCP XBOpOOU 10 | ne BusiBneno
Buuiscrke 3000 43 10C3K+BIT 5510,80| 2 | 16 |20 |260| 4 |BCP XBOpOOH 10 | ne BusiBneno




Buuiscbke Z2E18T 3. : 9C31BbI1+/13 40 10,701 2 | 14 | 16 [170| 4 |BCP | cToBOypoBi wikignuku | 10 | He BusiBiaeno
Buuisceke SZEA9RIIER I 4,0 4.0 9C31bI1 70 10,70 | 1A| 26 | 30 |400| 4 | BCP | cToBGyposi mikigHuku | 10 | ne Bussaeno
BuuiBcrpke 3226 (¥ 2 10C3+BI1 42 10801 1 117§ 18 1270] 4 i BEP roskesxa 15 | He BusBieHo
Buuiscbke 321291 0% 10C3+bI1 54 10,70 | 2 | 18 | 20 |250| 4 |BCP | cToBOypoBi mikiguuku | 10 | wue Bussicho
"~ Buuircbke 37132 | 264 10C3K+bI1 52 10,80 [ 1A | 22 | 26 |400| 4 |BCP XBOpoOHU 15 | e BusneHo
Pazom 51,3 4,0 4,0
Paszom BCP 44,1
Kanencrke 381391 98 ()| 40 1,0 9C31bI1 50 1070 1" 4| 1922025014 | ECP NIOYKEKa 215 | ue BusBneno
Kanencoke 48 12 4 1256 1(2)| 0.8 0,8 8C32BI1+0C 85 10,7000 3 1"200[ 2812201 4 ['€EP IOKEXKa 200 | ue BusBEHO
KaneHcrke 451231 31 1(iyy 140 1,0 7C33BI1+0OC 70 10,301 2 1217301 801 4 [\CEP MTOXKEXKA 154 | ue BusiBieHO
Kanencrke 45 +25 | 36 (1)t 04 0.4 7C33BI1+BJIY 55 10,60 3 1 14% 16 | 1101 4 | CCP N10KeXKa 190 | ue Busiieno
KaneHcrke 45130 |, 30 @) 08 0,8 5C35BI1 600,40 3 [ 15120180 ]| 4 |CCP NoKesKKa 148 | ne BusBICHO
Pazom 32,1 4,0 4,0
Pazom CCP 4,0
Buuischbke 3641 30:11: w6, SEClE. 5120 1,0 9C31bI1+/13 650,60 1 |24 |28 290] 4 |CCP NoYKeKa 239 | ue BusiBIICHO
BuuiBcbke 8740053 | 2de ) 1,0 1,0 10C3+bI1 90 40608 "3 HEZISE 302 DOl A CE PR NoYKesxa 179 | ne BusBneno
Buuischke 42 | 5 1107 S 1) 1,0 10C3+bI1 630,70 T 1" 233 284355 44|/ €CP NoXexa 135 | ne BusiBiieHo
Pazom 5,7 3,0 3,0
Paszom CCP 3,0
Onexcanapiseske | 49 | 60 | 1,3 [ (1) ]| 1,0 1,0 10C3 510,70 | 1 | 19|26 |265| 4 | CCP | croBOypoBi mkigHuku | 223 | He BusBieHO
Pazom 1,3 1,0 1,0
Pazom CCP 1,0
JliOpiBchke 204260 L 11y 10 1,0 8C32bI1 68 0,40 | 2 | 20|26 |140| 4 |CCP| croBOypoBi mkigauku | 101 | He usisreno
JliGpiBcbke 221264 4,1 (1)1 09 0.9 9C31bI1 70 10,65| 1 | 22|28 |280| 4 | CCP| croBOypoBi mkigauku | 116 | ne susisneno
JiOpiBchke 241 3 1o 141y 0.9 0,9 9C31bI1 65 10,70 1 |21[26]|270] 4 |CCP| croOyposi mkignuku | 99 |ue ussreno
JibpiBchke 24 132 10,8 10C3+bI1 6510,65| 1 |21]26]|280| 4 |CCP | crosbyposi mikigauku | 120 | ue sussreno
JliOpiBcbke 3203400 8 S AEN e 1,0 1,0 9C31bI1 59 10,50 2 | 18 126 |160| 4 |CCP | croBOypoBi mikiguuku | 133 | ne Buseaeno
JiOpiBcrke 38298 220 ) 140 1,0 10C3 59 10,70 | 1A | 23 | 24 |340| 4 | CCP | croBOypoBi mKigHuku | 87 |He BusBieHO
JliOpiBcbke 33140 | 0.8 10C3+bI1 60 (0,60 | 2 | 18 |22 |200| 4 |CCP| croBOypoBi mkigauku | 161 | ne ussneno
‘'Pazom 19.5 4.8 4,8
Pazom CCP 6.4
Myremsee |45 (49 48 [()] 1.0 | 1.0 10C3 55 10,75 [ 1A | 23 | 26 [370] 2 |ccP HoskesKa 409 | e puspreno




Fiow 0 eias |, [ 10 | 10
Pazom CCP 1,0
Ceapuuesuupke | 8 |31 | 7,0 |(1)| 0,2 0.2 SBJIY3BII2AJIE 650,70 1 | 25|28 |280| 4 |CCP | cros6yposi mkiguuku | 345 |ue sussrerio
Ceapuneruubke | 8 [ 32| 3.4 @) 000.2 0.2 8AJI€1C31BI1 70010700 Lo b2 1305 410 4 [ @CP cTOBOYpPOBI MIKIAHUKK | 290 | He BusiBreHo
Ceapuueruupke | 13 | 13 | 29.8 ()il 0.7 0,7 |4BIIY2BITIA31I325JI€ | 60 | 0,70 | 1.[22 | 28 {250| 4 |CCP CTOBOYpOBI IIKIAHUKU | 420 | ne Busiieno
CBapnueBHubKe 23 1,351 43 [(1)] 04 0.4 10C3 52 10,70 1 | 19 [ 24 |260| 4 [CCP | cTos6ypoBi mkigsuku | 158 |ue susmpreno
CpapuueBuupke | 46 | 5 34 [()| 0,7 0,7 10C3 3910701 2 {14 | 18 1180} 4 1CCP CTOBOYPOBI IKIAHUKM | 37 | ue BusBreno
CpapuiieBuiibke | 46 | 9 2.2 100t 04 0,4 10C3 3510440 2 [13]16 |90 | 4 [CCP| cToB6ypoBi WKiZHAKK | 63 | e pusmreno
CpapuueBuupke (46 [ 14 | 1,4 |(1)]| 0,6 0,6 |10C3(40)+C3(70)+OC| 40 (0,50 1 | 15|18 |130| 4 |CCP cTOBOYpOBI WIKiAHUKK | 105 |ne BusBieno
Ceapuuesuupke |47 |21 | 83 |[(1)| 04 0.4 | 7C3(55)2C3(80MBI |:55 10,501 2 |18 | 24 {170] 3 |CCP cTOBOYpOBI 1IKigHUKH | 118 |ne Busmieno
Cerapuuenuupke |49 [ 36 | 18,0 |(1)| 0,7 0,7 8C3(40)2C3(70) 40:40,701 312 16 {150{ 4 {CCP CTOBOYpOBI KiAHUKK | 116 | ue Bussieno
CeapuneBunpke |49 (47 | 8,0 |(1)| 0,7 0,7 8C3(50)2C3(70) 50 10,60 2 | 17 | 24 |200| 4 |CCP | cros6yposi mkigauku | 110 | e sussreno
Ceapuuesunpke | 50 [ 24 | 1,5 [(1)]| 0,7 0,7 10C3 49 10,50 1 |19]24(190| 4 |CCP cTOBOYpOBI IKiAHUKK | 154 | e BusBieno
Crapunesuupke | 50 | 27 | 2,6 [(1)] 1,0 1,0 10C3 3910,10] 1 |16 |16 |30 | 4 |CCP | cTor6ypoBi mkigauku | 111 | e sussaeno
Pazom 2,6 1,0 1,0
Pazom CCP 6,7
Beoro . | 1 lwaap] 276 ] 2758
Beboro BCP 62,0 =
Beboro CCP 22,1
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